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A £ O & Ak H Al A
20168 & =0l & LBHSIH AL A It
dagagn
HUY Mg SH
Moy AW 25 (B9 ®R)
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
5,569,444 5,331,499 237,945
= 2,695,565
< 746,600
s 2,127,279
dgdE MY 8Y 5,560,844 5,323,379 237,465
= 2,695,565
< 746,600
[ia 2,118,679
dag Z2¥d A5t 5,560,844 5,323,379 237,465
= 2,695,565
< 746,600
[ia 2,118,679
HdLHINE HRFX 3,274,120 154,500 3,119,620
= 1,587,000
= 476,600
[ia 1,210,520
2 Et2 H Y| 71,720 100,000 A 28,280
AtS 2tel ] 70,200 100,000 A 29,800
NELA OFFE 2L 30,000,000& 30,000
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NeidsE AABAD TSI
500, 000& %33l 1,500
Naote A F2b AN ZAZ XA
300,000 32 900
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Nelotddd HEEs 2 OINXE X2
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e 100,800
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NELGEMNNSESHEY U2 AL
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ded T XA 417,130 642,820 A 225,690
= 208,565
e 208,565
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= 208,565
s 208,565
02 QIZtE A AHEE 417,130 642,820 A 225,690
NELE ZTEW XA 417,130,000 417,130
= 208,565
[ia 208,565
ZIHEBANE A 1,170,000 2,700,000 A 1,530,000
= 900,000
< 270,000
402 RI2EXt20| N 1,170,000 2,700,000 A 1,530,000
= 900,000
< 270,000
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